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: Freezing functioning test result at Fukushima Daiichi Nuclear Power Station: Soil temperature (Temperature in thermometer pipe)
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Note1) AST of Medium—grain sandstone layer :Average value of thermometer temperature measured at 1m pitch except surface of the earth ~GL—2m and around the area of First Muddy layer part boarder

Note2) AST of Alternating strata layer :Average value of thermometer temperature measured at 1m pitch except around the area of upper and lower part of Alternating layer boarder
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Land-side impermeable : Freezing functioning test result at Fukushima Daiichi Nuclear Power Station : Temperature difference of Brine Supplying/Returning
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